Sk

g
Tl
>

1. ¥¥4
B4 TN T AEEE IR S NIRRT
JEATST ISR | [ 5P

2. EBEAR
1) FHEI4 EIE) I EE 5T T FR

365 H H &fn 74 44 1H

2) JE1THIR
£ ofn 8% 3H3LH

3) &FEtHM
AEFIT, RIE) KR FHEICLE L 72 ZHER OREFETI EF TH D,

4) FEHBNA
BFEERERD LB,

E+sZi@E SN



PR NER =

ull
P

EBA | BT EEEIRE NS ER ER i W=
HH FEYE S
THH - T - R A7 iy & KA MR N R
FEHE S EY 1 2,723, 000
LV S & 2y 1 2,723, 000
2 R FLVE SO B 2y 1 886, 800 | 2 MhELVE SIS
3 =8
PR
3 R FEYE I & 2y 1 1,184,000 | 3fkEEvE SIS
10 =8
KA E T L, &S 20
4 R FEE U = 1 652, 200 | 4 FREEUE SN A
20 =y
KO E R L R E £ v
HZ £ = 1 1, 995, 039
HL £ = 1 1, 359, 704
HLAH £ = 1 1,359, 704 | BiHbHE (VEXEZHmE)
1 kW
BarN: i [
0.05 )1 (km2) =
RIS & = 1 635, 335
SIRTT AR & = 1 635, 335 | #f b L—HHIE
0.01 )1 (km2) =
St T & = 1 5, 032, 890
BRI = 1 5, 032, 890
AR A = 1 5,032,890 | YE3FH
1 e
BLHIE AT

-1- E+sZi@E SN



m
2
%

==
=]

¥BL | BT REEIRE N R R ¥ =
HH B AR
THH - THE - FER BT & 4 H AR ER
1 km
BRI E
1 km
I PERE
1 km
RIS
1 km
B MaXE I &
1 km
THEVTIR
1 km
TR
1 km
JHHE AR R
2 km
I5m = 2,970, 450
RISt = 2,970, 450
Taws 2V 265,450 | THH
1 =
EEHERER] = 2,705,000 | EEHERIERR
1 =
[EXE5 S = 201, 895
[ERE S = 201, 895
B Ay = 62,895 | ikE (FF+L - ERE
1 =
R e T #: 139,000 | #EF-RCRAL RS
1 =
el £V L0
-2 - EEAZmE  Fu T R



i
I
St
%lljll
I

EBA | BT EEEIRE NS ER E W=
H H Bt s
THH - T - fER] A7 ¥ & 4 % OB ORR
Bl 2 = 1 169, 083
AR E 2y 1 169, 083 | FRMTE
1 =X
EHER 2y 1 13, 092, 357
EiEeRlheey 2y 1 8,317, 643
3% o =X 1 8,317, 643
il eSS e s =X 1 21, 410, 000
T E R = 1 1,072, 502
G = 1 1,072, 502
sy = 1 1,072,502 | #EREEHIRRGT
20 )1 MK
il
A E R Rt = 1 2,876, 447
FEed et/ G = 1 335, 947
(A ISR = 1 335,947 | TR TEEAIGREE
1 pre
EIHENE.
xR ERHERL = 1 2, 540, 500
EHEEHER = 1 2,540,500 | HFHEBHER
1 =
[ERES e =, 1 285, 000

-3 - E+sZi@E SN



i
S

%lljll
I

A | AT IR RS G ES ¥ F RS
H H [ERERES
HE - LfE - fy) B 7 s & AR PN R
[ERESE S v 285, 000
R R = 285,000 | 7RSSR VERLEY
BRI (2 OftFAGER <) X 4,233,949 : =
Z O 2y 2,111,639
—fRE RS X 3,414,412
B fidk =X 9, 760, 000
B fidk =X 31, 170, 000
-4 - FELA5EE U R



